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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
< Al B 6,791,335 6,360,357 430,978
= 1,000,000
2 348,000
= 26,100
Al 5,417,235
S AIHE 22 583,845 638,745 A 54,900
TAHE2SE 490,445 497,525 AT7,080
TAAHE2IGX A 45,620 52,700 ANT7,080
201 et 9| 41,300 47,900 A6,600
01 AF 2t 2| H| 25,300 31,900 AN 6,600
OEANHERAZ AL 70,000& *13H *103] 9,100
OZANAHEZALOIIZ]ND
1,650,000 200 Al 2 %43 13,200
OEXOIEHE&AALZ X H 3,000,000 3,000
02 2224 4| 16,000 16,000 0
(OFEE=PE=E=INN: 3,000, 000& 3,000
OEXOIZ2HE=ALZ A2HHA 2 S Y]
300,000 x10H 3,000
OEXNZSHE U (KLIS) SXA2e 249
10,000, 000& 10,000
203 &R F&d| 4,320 4,800 AN480
03 AIZH =X 2= X H| 4,320 4,800 AN480
OZ A AIEF=RHR2FXH| 4,320,000& 4,320
EEH TADJIZ2HE, TA2CHE L £=XXNEE 444 825 444 /825 0
MHEH 4
207 A OH 4| 444,825 444,825 0]
01 s 300,000 300,000 0
OSSFd ZTADIZSAHE L SAZ2HE L %=
XANANEE MMEH 22 300,000,000& 300,000
02 & A Y| 144,825 144,825 0
O=SSHA TAHEEHEMAH(PIS)REALE
144,825,000 144,825
HOIDIEH A HEAESH(EII0IE S AIHE A A 52,000 102,000 A 50,000
RNEAEHS H)
HI|0|& S S AIHEAAESEA 52,000 102,000 A 50,000
401 AlEHIZL 2 0HY| 52,000 102,000 A 50,000
01 Al&H| 52,000 102,000 A 50,000
OFIOIYB A HEANEUHKE A
52,000,000 52,000
JIBLAIE I (J|BtAIEEE S H) 41,400 39,220 2,180
OlHIHI(DIBIAIE EY) 41,400 39,220 2,180
801 0ilHl Hl 41,400 39,220 2,180
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 oll gl 8l 41,400 39,220 2,180
Oolgl gl 41,400,000 41,400
S AIJHE 22 6,152,600 5,665,542 487,058
= 1,000,000
2 348,000
= 26,100
Al 4,778,500
CAX 2N 2a BF 5,067,000 4,802,000 265,000
= 1,000,000
Al 4,067,000
EUARIXNSY T=2IHHE 539,000 0 539,000
401 Al HI L 2 0HHI 539,000 0 539,000
01 Al& H| 539,000 0 539,000
OMAHS EUARI|AAF T2HA
539,000,000 539,000
SEdE ALY T 24 270,000 0 270,000
401 AlEH|IZL 2 0HY| 270,000 0 270,000
01 Al& b 270,000 0 270,000
OSSHS 4Ly T2H4
270,000,000 270,000
SUZ~SZZ2 T 2L 1,005,000 500,000 505,000
401 AlEHIZL £ 0HY| 1,005,000 500,000 505,000
01 Al&H| 1,000,000 500,000 500,000
OsY=z-sZ22t T2IME 1,000,000, 000 1,000,000
03 Al 201 Y| 5,000 0 5,000
Osdz-sZ22t T2ME 5,000,000& 5,000
(P)THOI & At ~ptolgl g2t T2 A 50,000 0 50,000
401 AlEHIZL 2 0HY| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
O(F)MHOol &= At -ptolglei2t T 24
50,000, 000& 50,000
ARETESN FEEY E2IME 60,000 0 60,000
401 AlEHIZL 201 Y| 60,000 0 60,000
01 Al&H| 60,000 0 60,000
OARxEsW E2 =24 60,000,000 60,000
SSEEEEN AFEXN NgEZ A 40,000 0 40,000
401 AlEHIZL 2 0HY| 40,000 0 40,000
01 Al&H| 40,000 0 40,000
OSSHABN A=K VYEE Ha
40,000, 000& 40,000
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SFESLY A E2HE 2,000,000 2,000,000 0
= 1,000,000
Al 1,000,000
401 Al&HI & 28I 2,000,000 2,000,000 0
= 1,000,000
Al 1,000,000
01 A& HI 1,993,000 1,992,800 200
OSSHZYY AHH S2HTAY
1,993,000, 000& 1,993,000
= 996,500
Al 996,500
03 AIE S THHI 7,000 7,200 A 200
OSSHZYY AHH C2HTAY
7,000,000 7,000
= 3,500
Al 3,500
A4 ME2E ANUEZ L 1,103,000 0 1,103,000
401 Al&HI & 28I 1,103,000 0 1,103,000
01 A& HI 1,100,000 0 1,100,000
Oaat ME=2T JJEZ HEAY
1,100,000, 000& 1,100,000
03 Al 2 THHI 3,000 0 3,000
Oaat ME=2T JJEZ HEAY
3,000,000& 3,000
FAHE I AS 435,000 300,000 135,000
& 348,000
< 26,100
Al 60,900
OHEXIF F=HESHMSAS 226,000 0 226,000
& 181,000
< 13,600
Al 31,400
401 Al Bl 28I 226,000 0 226,000
= 181,000
< 13,600
Al 31,400
01 A& 8l 226,000 0 226,000
O¢sEXF FHEZIMNEAY 226,000, 000& 226,000
= 181,000
< 13,600
Al 31,400
MA-IK T FHEZHEAS 209,000 0 209,000
& 167,000
< 12,500
Al 29,500
401 Al Bl 28I 209,000 0 209,000
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2 167,000
= 12,500
Al 29,500
01 Al& H| 209,000 0 209,000
OMAIXN T =HEZHIMNLEAIY
209,000,000& 209,000
2 167,000
= 12,500
Al 29,500
EXNPEZCAMA(EXNPREZCIAILEHSAH) 650,600 563,542 87,058
S8 EXNFREAHCANS 650,600 563,542 87,058
401 AlEHIZL £ 0HY| 20,000 30,000 A 10,000
01 Al&EH| 20,000 30,000 A 10,000
O8N+ EXNFREEHCAY 20,000,000& 20,000
705 Oll=2c| 248t 630,600 533,542 97,058
o1 olx==a=24s 600,000 500,000 100,000
OS82 K43 B3NS
600,000,000& 600,000
02 Ol == 0| XA &t 30,600 33,542 A2,942
OEgt&ellI2 =2 0l AHAE 30,600,000 30,600
HE2AAH (S A 54,890 56,070 A 1,180
2AHI (Al 54,890 56,070 A 1,180
Jl2ddl (S Al 54,890 56,070 AN 1,180
201 et d| 14,630 15,390 AT760
01 AFR 2t 2| bl 14,630 15,390 AT760
OBANSY AR 22l 14,630,000& 14,630
202 04| 36,480 36,480 0
01 2L I 36,480 36,480 0
OJI2ge2a=s0d|(19Y) 36,480,000 36,480
203 €2 F=&d| 3,780 4,200 N420
04 EANSIE LR F=XH| 3,780 4,200 AN420
OBAN2EAR2F=XH| (3002 0l3})
315,000 x12& 3,780




